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ENGLISH VERSION

Instructions :
(1) Figures to the right indicate full marks of the question.

(2) Necessary calculation as a part of answer.

1 Sanyam Company Ltd. is having Standard Costing System 20
in operation for quite some time. The following data relating
to the month of March - 2017 is available from the cost

records :

Particulars Budgeted Actual

Working Days 25 26

Operating Hours 30,000 33,000

Output (in units) 30,000 32,500

Overhead Exp. : Rs. Rs.
Fixed 45,000 50,000
Variable 60,000 68,000

Calculate :

(1) Variable overheads variances

(2) Fixed overheads variances.
OR

1 (a) The data from the Budget and Actual data of a factory 10
for June - 2017 are as follows :

*  Standatd time for production of one unit = 20 Hours.

*  Budgeted :
(1) Production ...........ccovvvviiieiniieenen. 600 units
(2) Variable overheads ..................... Rs. 15,600.
*  During the Month :
(1) Actual production ...............ccoe.. 500 units
(2) Actual variable overheads ............ Rs. 14,000
(3) Actual hours ..........ccoevvviiiiiieii, 9,000.

From the above details : find out

(1) Variable overhead variance

(2) Variable overhead expenditure variance
(3) Variable overhead efficiency variance.

PB-16080002030301] 5 [ Contd...



(b) The following information is received from a factory : 10
Particulars Budgeted Actual
*  For Month of May :
— Standard time for
one unit (Hours) 10 —
— Fixed overheads 10,000 12,000
—  Production (in units) 2,000 2,100
— Actual hours worked — 22,000
From the above details, find out
(1) Fixed overhead variance
(2) Volume variance
(3) Capacity variance
(4) Efficiency variance.
2 (a) Following is the information about sales by Saloni 10
Company in April - 2017 :
Standard Actual
Product | Quantity | Price Amount | Quantity | Price | Amount
(units) Rs. Rs. (units) Rs. Rs.
A 1000 12 12,000 1200 13 15,600
B 600 15 9,000 400 14 5,600
Total 1600 21,000 1600 21,200
Calculate sales variance (based on sales value).
(b) The following table shows the budgeted and actual sales 10
for a certain period.
Compute sales price, "Volume" and "Mix" variances.
Estimated Standard Actual
Product | Quantity | Price per Total Quantity Total
unit Rs. Rs. Rs.
X 3000 30 90,000 3500 1,22,500
Y 2000 20 40,000 2400 60,000
4 1000 10 10,000 500 2,500
OR
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2 A company furnishes details about its sales and profit for 20
the year 2016 as follows :

Budgeted
Sales Cost
Product | Units Per Unit Total Per Unit Total
Rs. Rs. Rs. Rs.
A 12.000 5 60,000 4 48,000
B 8,000 10 80,000 8 64.000
Total |20,000 1,40,000 1,12,000
Actual
A 15,000 4.50 67,500 3.50 52,500
B 7,500 12.00 90,000 8.50 63,750
Total | 22500 | | 1,57,500 | | 1,16,250
Calculate sales variances on profit basis method :
(1) Total sales margin variance
(2) Sales margin price variance
(3) Sales margin volume variance
(4) Sales margin mix variance
(5) Sales margin sub-volume variance.
3  "Prasoon Engineering Ltd." manufactures different types of 15

machinery. From the information given below, find the average
production cost of "RATHI" brand machine.

For :

(1) Production of 4 machines.

(2) Production of 8 machines.

*  Direct materials per machine (Rs.) .......................... 8,000

*  Direct wages per hour (RS.).......cccoooiiiviiiiiiiiii, 25
*  For the production of the first machine,

the necessary human hours ................................. 500

Learning curve 1ate ............ccccvveieeiiviiieeiiiiie e 80%

Fixed indirect expenses :
For production of upto

5 machines (RS.) ........ccoooiiiiiiiiii, 12,500
For production of more than
5 machines upto 8 machines (Rs.)................ 16,000

Moreover, when learning curve rate is 90% in application,
then find the production cost of the 8" machine.
OR
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3  Maheshwari Company manufactures two Product A and B, 15
for which same equipments and similar processes are used.
The production data for the production during one year were
shown below :

Product A B

Units produced 15,000 21,000

Direct labour hours per unit 3 6

Machine hours per unit 9 3

Set-ups during the year 30 120

Orders handled during the year 45 180
*  Overheads are : Rs.
Relating to machine activity 6,60,000
Relating to set-ups 60,000
Relating to handling of orders 1,35,000
Total Rs. 8,55,000

Calculate the production overhead rate for absorption of
overhead per unit under :

(1) Traditional approach, using direct labour hour rate to absorb
overheads.

(11) Activity Based Costing approach.

4  Write short notes : (any three) 15
(1) Advantages of Cost Audit
(2) Importance of Cost Reduction
(3) Objectives of Cost Control
(4) Prerequisites of Cost Control
(5) Qualifications and Disqualifications of Cost Auditor
(6) Differences between Cost Reduction and Cost Control.
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